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MANAGEMENT
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which of the following are not the assumptions related to the theory of consumer
behaviour as per the cardinal utility approach ?
(i)  Rational consumer
(1))  Unlimited money income
(11) Utility cardinally measurable
(iv) Diminishing marginal utility of money
(v) Constant marginal utility of commodities
(vi) Maximization of satisfaction
(vii) Utility is additive

Code :
() (@), (iii), (v) and (vii) (2) (i), (iv) and (V)
3) (@), (i), (iv) and (vii) (4)  (vi) and (vii)

2. Which one of the following properties is not the property of isoquants in terms of inputs
and output ?
(1) Negative slope
(2) Concave to the origin
(3) Non-intersecting and non-tangential
(4)  Upper isoquants represent higher level of output

3.  Match the items of List — I with the items of List — II and indicate the code of their correct
matching :
List -1 List - II
(i)  Costs which do not take the form of cash outlays, nor do (a) Sunk costs
they appear in the accounting system
(i) Costs which are made once and for all, and cannot be (b) Opportunity
altered, increased or decreased by varying the rate of cost
output, nor can they be recovered.
(ii1)) Expected returns from the second best use of the resources (c) Book costs
that are foregone due to the scarcity of resources.
(iv) Costs in the form of depreciation allowances and unpaid (d) Imputed costs

interest on the owner’s own funds
Codes :
@ b © @
(D Gv) @) @Gy (@)
2 @ @ (@) (1v)
(3) () (@v) (1) (i)
4 @Gy @) @Gv) (@
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4. Which one of the following market structures has many firms with real or perceived
product differentiation and some control over price of their products ?

(1) Perfect competition (2) Monopolistic competition

(3) Oligopoly (4) Monopoly

5. Which one of the following is not covered in the study of macro economics ?
(1) Price and output determination of a commodity
(2) Inter-relationships among aggregate consumption, savings and investment
(3) Business cycles

(4) Factors and forces of economic fluctuations

6. An open system of organisational structure becomes an efficient and effective system
when it covers which four of the following ?

(a) Law of equifinality

(b) Negative entropy

(c) Self-regulating

(d)  Self correction through feedback
(e) Hierarchical communication only

(f) Dynamic equilibrium

Code :
() (a), (b), (d) and (f) (2)  (b), (¢), (d) and (e)
(3)  (a), (¢), (d) and (f) 4 (0), (d), (e) and (f)

7.  Consider the following statements :
Statement — I : Role efficacy contributes to work motivation.

Statement — II : Norms of recognition of competence cannot promote a climate of work
motivation.

Statement — III : Opportunities to influence decisions does not increase work motivation.

Statement — IV : Work motivation is always directly proportionate to the challenge the job
provides ot the individual.

Choose the correct option :

(1) Statements I and II are correct

(2) Statements I, IT and IV are correct
(3) All statements are correct

(4) Statements II, III and IV are incorrect

Paper-111 4 J-17-16
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10.

11.

Match the List — I with those of List — II and choose the correct code :

List -1 List - 11
(Thinker) (Conceptual model for human behaviour)
(a) Kierkegaard and Nietzsche (i) Behaviouristic model
(b) Sigmund Freud (i)  Eclectic model
(c) Pavlov & Watson (1) Existentialistic model
(d) Douglas McGregor (iv) Psychoanalytic model
Codes :

(@ () () (@
(H G Gv) @ 3G
2 @ @G @G (@Gv)
(3) Gv) (@ i) (1)
@4 G @ @Gv) (i)
Which of the following is the fundamental assumption about human behaviour ?

(1) Caused behaviour (2) Goal oriented behaviour
(3) Motivated behaviour (4) All of the above

Assertion (A) : The interest in human relations at work has become very popular in
modern days.

Reason (R) : Social pressures brought increasing pressures for an improved human
climate in organizations.

Codes :

(1)  Assertion (A) and Reasoning (R) both are correct and (R) is correct explanation of (A).

(2) Assertion (A) and Reasoning (R) both are correct, but (R) is not right explanation of (A).

(3) Assertion (A) is correct, whereas Reasoning (R) is incorrect.

(4) Reasoning (R) is correct, whereas Assertion (A) is incorrect.

Match the items of List — I with the items of List — II.
List -1 List - IT
(a) Line function (i) Administering various benefit programmes
(b) Co-ordinative (i1) Directing the activities of the people in his own
function department
(c) Staff function (iii) Ensuring that approved and adopted HR objectives,
policies and procedures are being consistently carried out
Codes :
(@ (b (o)
(H @ G (i)
2 @G @ @
(3) Gy (@G 1)
@4 @ @G ()
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12. A graphical method used to help identify the relationship between a measure of business
activity and staffing levels of an organization is known as :

(1) Managerial judgment (2) Trend analysis
(3) Ratio analysis (4)  Scatter plot

13. Match the job evaluation method given in List — I with its characteristics given in List — II.

List - I List — IT
(a) Ranking (1)  Scored separately to produce overall points score for the job.
(b) Job (i) Whole job comparisons made to place them in order of
classification importance.
(c) Factor (ii1)) Job grades are defined and jobs are slotted into grades by
comparison comparing the whole job description with the grade definition.
(d) Points (iv) Panel members individually compare each job in turn with all
method the others being evaluated. Points are awarded according to

whether the job is more, less or equally demanding than each
of the jobs with which it is being compared.

Codes :

@ (b @© @@

(L @G @Gy Gv) @

2 O @Gy 3G @Gv)

(3) (@) G Gv) @)

@4 @) @Gv) @G @)

14. Assertion (A) : The stage or level at which grievance settlement takes place, is an index
of the climate or spirit that prevails in the organisation.
Reason (R) : The lower the level of settlement, the quicker the redressal of a grievance.
Codes :
(I) (A) is correct, but (R) is incorrect.
(2) (A) is incorrect, but (R) is correct.
(3) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(4) Both (A) and (R) are correct and (R) is the correct explanation of (A).

15. Extra-mural welfare activities include all those welfare activities or services or amenities,
which are undertaken :

(1) To give extra benefits to employees

(2)  As surprise bonus announced to employees
(3) Outside the factories

(4) Inside the factories

Paper-III 8 J-17-16
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16. Which one is not correct ?

(1) The NPV and IRR methods make the same accept/reject decisions for independent
projects.

(2) The payback period is defined as the number of years required to recover a projects’
cost.

(3) The discounted payback method discounts cash flows at the rate of interest.

(4) The NPV method assumes that cash flows will be reinvested at the firm’s cost of
capital.

17. Match the items of List — I with the items of List — II.

List - I List - II
(a) Optimum (1) strikes a balance between current dividends and
dividend policy future growth so as to maximise the stock price.
(b)  Stock split (i) adividend paid in additional shares.

(c) Stock dividend (iii) increases the number of shares outstanding.

(d) Tax preference (iv) investors prefer to have companies retain
theory earnings.
Codes :
(@ () (© (@
@ Gv) (i) (i)
@ @@ @Gv) (@G (@)
3 @ (@) (@) (@{v)
@ O @) @) (i)
18. Match the items of List — I with the items of List — II.
List -1 List - II

(a) Merger (i) designed to make a company less
vulnerable to a takeover.

(b) Vertical merger (i) a merger of companies in totally
different industries.
(c) Conglomerate (ii1) the combination of two firms to form
merger a single firm.

(d) Defensive merger (iv) a merger between a firm and one of
its suppliers or customers.

Codes :

@ (M (@© @
(H () ) @ (@)
(2) Gv) () (@) (i)
(3) () @v) @) (@
4 O @ @v) (i)
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19. Match items of List — I with the items of List — II.

List - I List — IT
(a) Working capital (1)  used to hold down inventory costs
(b) Cash conversion cycle (1)) the practice of purchasing components
(c) Just-in-time system (iii) current assets
(d) Outsourcing (iv) inventory conversion period + receivables
collection period — payables deferral period

Codes :

@ () (© (@
(G @ 3G @Gv)
(2 i) Gv) @ (D)
3 Gv) () (G (i)
@ G @) Gv) (D)

20. Match the items of List — I with the items of List — II.

List -1 List - II

(a) Euro Dollar (i) a bond sold by a foreign borrower but denominated in

the currency of the country in which it is sold.

(b) Foreign Bond (ii) a bond sold in a country other than the one in whose

currency the bond is denominated.

(c) Euro Bond (i1) the situation when the spot rate is greater than the

forward rate.

(d) Premium on (iv) a US dollar deposited in a bank outside the United States.

Forward Rate

Codes :

ey
2
3)
“4)

(@ () (© (@
(iv) () (i) (i)
i) () (i) (iv)
(v) (D) (i) (@)
(i) @) 3G (iv)

21. Consider the following statements and indicate the correct answer :
Statement I : The holistic marketing concept is based on the development, design, and

implementation of marketing programmes, processes, and activities that recognize
their breadth and interdependencies.

Statement II : Holistic maketing acknowledges that everything matters in marketing —

(D
(2
(3)
4)
Paper-111

and that a broad, integrated perspective is often necessary.
Only Statement I is correct.

Only Statement II is correct.

Both Statements I and II are correct.

Both Statements I and II are incorrect.
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22.

23.

24.

25.

Consider the following statements related to different stages of PLC and choose the
correct code :

(a) Introduction
(b) Growth
(¢) Growth

A period of slow growth and low profit
A period of rapid market acceptance and slow profit improvement

A period of rapid market acceptance and substantial profit
improvement

Sales growth and profits stabilize
Slow down in sales growth and profits stabilize

(d) Maturity
(e) Maturity

(f) Decline — Sales show a downward drift and profits erode
Code :

(1) (), (c), (e) and (f) (2) (o), (e) and (f)

(3) (), (b), (d) and (f) (4)  (b), (e) and (f)

Which one of the following is a consumer goods market testing method in which the
company chooses a few representative cities and puts on a full marketing communications
campaign, and the sales force tries to sell the trade on carrying the product and giving it
good shelf exposure ?

(1) Test markets (2) Simulated test marketing
(3) Sales-wave research (4) Controlled test marketing

Match the items of List — I with items of List — II and select the correct code.
List - I List — IT
(a) Cash refund (1) Certificates entitling the bearer to a stated saving on the
offers purchase of a specific product.
(b) Premiums (1)) Explicit or implicit promises by sellers that the product will
perform as specified or that the seller will fix it or refund
the customer’s money during a specified period.

(c) Product (i11)) Merchandize offered at a relatively low cost or free as an
warranties incentive to purchase a particular product.
(d) Coupons (iv) Provide a price reduction after purchase rather than at the

retail shop.
Codes :
@ b © @
(Hh O @G @) (@1v)
(2) i) @v) ) @)
(3) @Gv) () (@) (i)
4) (@Gv) @) G (@)

is the process of carefully managing detailed information about individual
customers and all customer “touch points” to maximize loyalty.

(1) Personalizing marketing (2) Customer empowerment
(3) Customer value management (4)  Customer relationship management

Paper-I111 14 J-17-16



22.

23.

24.

25.
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&

(=N

(@ () (© (@
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() (i) (v) @) @)
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(1) =t faaue (2) USRI FTISRIHIOT
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26.

27.

28.

29.

30.

31.

Match the items of List — I with the items of List — II relating to jobs of production and
operations management and their time horizons and indicate the code of their correct

matching :
List - I List — IT
(Jobs) (Time horizon)
(1)  Safety and maintenance systems (a) Long time horizon
(1))  Scheduling of manpower (b) Intermediate time horizon
(11) Purchasing policy (c)  Short time horizon
Codes :
(@ (b (o)

1 ® G (i)
@ @ @ (i)
(3 @@ @G @
@ @ () (i)

Which one of the following operations research models is categorized on the basis of the
utility of the model ?

(1) Simulation models (2) Predictive models

(3) Analogue models (4) Deterministic models

Which one of the following criteria of decision-making under the state of uncertainty is
based on the opportunity loss decision approach ?

(1) Maximin or Minimax (2) Laplace criterion

(3) Hurwicz criterion (4)  Criterion of regret

Which of the following is used to know the average number of customers in the Queue
system when arrival rate is denoted by y and service rate by p ?

A 1
H — 2) ——~
M @ T
A A
) — < 4) —
©) H(L=2) @) w—A
The product control is achieved through what ?
(1) Control charts (2)  Acceptance sampling plans
(3) Both (1) and (2) (4) None of the above

Which one of the following is a condition when sampling distribution of mean is not
normal ?

(1) Population distribution is normal and sample size is more than 30.

(2) Population distribution is not normal and sample size is small (< 30).

(3) Population distribution is not normal but sample size is large (> 30).

(4) Population distribution is normal and sample size is less than 30.

Paper-III 16 J-17-16



26.

27.

28.

29.

30.

31.
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(=N
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32.

33.

34.

35S.

36.

Statement — I : Exponential probability distribution is closely related with Poisson
distribution.

Statement — II : Mean, median and mode of the normal distribution are equal.

Statement — III : The standard deviation of the binomial distribution is \/ED when n
denotes number of observations and p the probability of success.

Codes :

(I) Statements — IT and III are true while Statement — I is false.

(2) Statements — I and III are true while Statement — II is false.

(3) Statements — I and II are true while Statement — III is false.

(4) All the three statements are true.

Which one of the following requires additional information to calculate coefficient of
correlation between two variables when the data are collected on ratio scale ?

(1)  Square root of the coefficient of determination.

(2) Geometric mean of the two regression coefficients relating to two variables x and y.
(3) Covariance divided by the product of standard deviations of variables x and y.

(4) Reciprocal of the product of the standard deviations of two variables.

Which of the following statements are true ?

(1)  The probability of making I-type error (alpha) in hypothesis testing is referred to as
the level of significance.

(ii) When the calculated value of x? is more than the table value of x? at given degrees
of freedom and level of significance, the null hypothesis is accepted.

(11) Standard deviation of sampling distribution of mean is called standard error.
(iv) For one tailed test, the critical value of Z at 5% level of significance is 1.96.
Codes :

(1) (i), (iii) and (iv) (2) (i) and (iv)

(3) (i) and (iii) (4) (i) and (iii)

The industry, in which competitive advantage in one country is strongly influenced by
position in other country, is known as :

(1) Multi-domestic industry (2) Parallel industry
(3) Global industry (4) None of the above

Assertion (A) : BCG matrix and IE matrix both are called “portfolio matrices”.
Reason (R) : They involve plotting organisation divisions in a schematic diagram.
Codes :

(1) Both (A) and (R) are correct, but (R) is not the right explanation of (A).

(2) Both (A) and (R) are correct and (R) is the right explanation of (A).

(3) (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.
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32.

33.

34.

35S.

36.
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B
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[ YA
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(2) (A) 3T (R) THI &t & 31X (R), (A) I T&l AN E |

(3) (A) W& T W= (R) & T&I & |
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37. Match List — I and List — II relating to WTO :

List - 1
(Agreements)
(a) SAFTA
(b) FTA (with EHS)
(c) CECA
(d) GSTP

Codes :

@ b © @
(h @ @G Gv) (@
(2) i) @@ @G @v)
(3) @Gv) () (@G (i)
4) (@) (@(v) (@) (1)

@

(ii)
(iii)
(iv)

List — IT
(Signing dates)
9™ October, 2003
13™ August, 2009
1* January, 2004
13™ April, 1988

38. Consider the following statements with reference to ‘‘strategic management” of a

corporate :

(a) External opportunities are creating similar type of consumer across the world.

(b) The process of conducting research and gathering and assimilating external

information is sometimes called as environmental scanning.

(c) Lobbying is one activity that some organizations utilize to influence external

opportunities and threats.

(d) Relative deficiency or superiority is not a part of analysis of corporate strategy.

Indicate the correct option

(1) Statements (b) and (c) are true, others are false.
(2) Statements (a) and (c¢) are true, others are false.
(3) Statements (c¢) and (d) are true, others are false.
(4) Statements (a) and (d) are true, others are false.

39. Consider the following statements :

Statement — I : When a company embarks on a global standardization strategy in today’s

world, it locates its manufacturing and other value chain activities.

Statement — II : Global standardization strategy need not find a structure that lowers the
bureaucratic costs of resource transfers.

Statement — III : The global product-group structure is weak in rsponsiveness to

customers.
Code :

(1) Statement II is correct, others are incorrect.

(2) Statement I & III are correct, I is incorrect.

(3) Statement I is correct, others are incorrect.

(4) Statement III is correct, others are incorrect.
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(a)
(b)
(c)
(d)

&he

(=N

(1)
2
3)
“4)

=t - 1 =t - 11

(W) (AR T AR
T UUE ST, (i) 9 3T, 2003
TEAT (EHS ¥@fed) (i) 13 37T, 2009
WA, (i) 1 SR, 2004
SiRecsRCiRei (iv) 13 3T, 1988

(@ () (© (@
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40.

41.

42.

Consider the following statements :

Statement — I : The entrepreneur has to be a mere manager. He (or she) may not be an
innovator and promoter as well.

Statement — II : An entrepreneur always searches for change, responds to it and exploits
it as an opportunity.

Statement — III : The government should not try to push the entrepreneurship beyond the
boundaries of a business unit.

Code :

(1) Statement I is only true, others are false.

(2) Statement II is only true, others are false.

(3) Statement II & III are true, statement I is false.

(4) All the statements are true.

Assertion (A) : Business opportunity is an attractive project which motivates the
entrepreneur to accept the project for making investment decision.

Reason (R) : A business possibility may take the shape of business opportunity only when
it improves social endowments.

Codes :
(1) (A) is correct, but (R) is incorrect.

(2) (A) is incorrect, but (R) is correct.
(3) Both (A) and (R) are correct, but (R) is not the right explanation of (A).

(4) Both (A) and (R) are correct and (R) is the right explanation of (A).

Match List — I with List — II.
List - 1 List - I1
(a) Intensive expansion (i) Results in a new company

(b) Vertical Integration (i) Market penetration

(c) Merger (ii1)) Creation of facilities for manufacturing

(d) Conglomeration (iv) Diversification activity of product/market
extension

Codes :

(@ () (© (@
1 @ Gv) (i) (i)
2 (@) @H 3> (@{v)
(3 Gv) () (@) (i)
@ @) @) @ @{v)

Paper-I111 22 J-17-16



40. FAMARET FHEET 9 @R HIT
HUT — | : ST i SheleT Teh Taieeh &l @1 TSl & | o8 Teh Teveideh 3] Yeldeh Fal & gehall |

T — I : Th YA UM SSAd bl @I | el 8, 39 Ufd Uiaishar il ¢ 3T 3T Teh
AT &H & H A FAT S |

HUA — [ : THR BT ST I THAT AT ThTS T TR-SART I e Ghet Sl HiTITeT
T A A |

£

(1) ot o [ TEl &, TR AT & |

(2) et FU 11 Wel &, S AT & |
(3) FEI AT TEIE, FoT | TAd & |

(4) TP TE |

41. ATUHAT (A) : TTHT STIT Teh U TNANTT § ST STH ol GRATSHT bl ThR ek e
& o o % forg Uit e & |

% (R) : U HAEE TRAEAT S ST &1 & T4 ol & 5T J8 Gt graae § gar
A E |

£

(1) (A) &g, Al (R) T € |

(2) (A) 7o g, wifehT (R) W& € |

(3)  (A) 3T (R) IHT WE &, B (R), (A) i Tl ATAT & € |

4) (A) 3R (R) IF1 el € 3T (R), (A) i el =men & |

42. G — 1 G — 11 % 91 Gaferd &

=t - 1 = - 11
(a) e for () U TS B H R
(b) S THEHIOT (i) TR %o
() foem (iii) ~ ferf=ion o forg gferemeit o gom
(d) eI (iv) SIS / ISR ToaR Tshamehend o1 fafareiteneor

&he

(=N

(@ () (© (@

@ Gv) (i) (i)

2 () @H 3> (@{v)

(3 Gv) () (@) (i)

@ @) @) @ @Gv)
J-17-16 23 Paper-I111



43.

44.

45.

46.

Match List — I with List — II.

List -1 List - II
(Schemes for SSI) (Basic function)
(a) National Equity Fund (1)  Working capital loans and long term loans

for fixed capital at one point.

(b) Small Industries Development (ii)) Updated technology support to export
Fund oriented units.

(c) Technology development and (iii) Equity type support to SSI.
modernisation fund

(d) Single window scheme (iv) Refinance assistance to SSI.
Codes :
@ b © @
() G @v) ) (@)
(2) Gy @ @av) (i)
3 O Gy @av) (i)
4) (@Gv) @) @) (>

What among the following is meant to assess the performance of a business in the field of
social responsibility ?

(1)  Social accounting (2)  Social responsibility accounting

(3) Social audit (4)  Social accounting index

Combination I : The Classical Economical Model (CSR) — It is believed that an invisible
hand promoted public welfare.

Combination II : The Socio-economic Model (CSR) — Business is seen as on sub-system
among many in a highly interdependent society.

Codes :

(I) Tis correct but II is incorrect.

(2) IIis correct but I is incorrect.

(3) Both I and II are correct.

(4) BothI and II are incorrect.

Some of the driving forces behind the evolution of corporate social responsibility are :
(a) Concerns and expectations from citizens, public authorities, and investors.

(b) Decisions made by individuals and institutions influenced by the criteria of foreign
trade.

(c) Concerns about the impact of economic activities on the production houses.

(d) Increased transparency of business activities because of the development in
information technology.

Code :
(I) (a)and (b) (2) (a)and (c)
(3) (a)and (d) (4) (b)and (c)
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43.

44.

45.
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47.

48.

49.

50.

As per the Indian Companies Act, 2013 a qualified Indian company is required to
contribute at least 2% of its average net profit towards corporate social responsibilities
activities. In which of the following situations the company is required to follow the
provisions ?

(1) Turnover of the company is I 100 crore or more.
(2) Turnover of the company is I 500 crore or more.
(3) Turnover of the company is ¥ 1,000 crore or more.

(4) Turnover of the company is ¥ 2,000 crore or more.

When an employee is transferred to an international location and his salary reflects his
home country’s salary with allowances added for cost-of-living differences, the employer
has used a salary plan.

(1) Cost-of-living (2) host based
(3) home based (4) transfer

Assertion (A) : Distributive bargaining is also termed as ‘zero sum’ game.
Reason (R) : It results in one party’s gain with loss of other party.

Codes :

(1) (A) is correct, but (R) is incorrect.

(2) (A) is incorrect, but (R) is correct.
(3) Both (A) and (R) are correct, but (R) is not the right explanation of (A).
(4) Both (A) and (R) are correct and (R) is the right explanation of (A).

Match the List — I with List — II relating to the forms of industrial disputes.
List - I List — IT
(a) Primary strikes (1)  Sympathetic strike

(b) Secondary strike (i) Dissuading those who go to work during strike

(¢)  Gherao (11) Wildcat strike
(d) Picketing (iv) Involves criminal conspiracy
Codes :

(@ () (© (@
H @ @ 361 @[v)
2 @G @H >Gv) 3G
(3 @Gv) @) @G) (@)
@ Gv) @) @) >G)
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47.

48.

49.

50.
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51. Choose the correct code :
Statement — I : Decide on the nature and amounts of incentives to be paid to subordinates

is a department supervisor’s (line) activity.

Statement — II : Conducting job evaluation procedures aimed at determining relative

worth of each job in the organization is a HR Specialists’ (staff) activity.

Code :
(I) Both I and II are correct.
(2) BothI and II are incorrect.
(3)  Only I is correct.
(4)  Only II is correct.
52. Match List — I and List — II relating to approaches to labour welfare :
List - I List - IT
(a) The police theory (1) Employees becoming more
organised & conscious.
(b) The philanthropic theory (ii) Affection to mankind/workers
(c) The placating theory (ii1)) Compulsions imposed on
employees
(d) The functional theory (1v) Also called efficiency theory
Codes :
@ () (© (@
(H @ G @Gv) (i)
(2 Gy @Gv) (@ (i)
(3) @) @Gy @ (@Gv)
@4 Gv) (i) @G) 1)

53. From the following statements, select the correct answer :
Statement — I : Establishing the day-to-day climate of mutual respect and trust needed to

maintain healthy labour management relations is HR specialists’ (staff) activity.

Statement — II : Diagnosing underlying causes of labour discontent with an eye toward

anticipating the sorts of morale and other problems that may lead to unionization
efforts is a department supervisors’ (line) activity.

Code :

(1)  Only statement I is correct.

(2)  Only statement II is correct.

(3) Both statements I and II are correct.
(4) Both statements I and II are wrong.

54. The appointment of Labour Welfare Officer in Indian Industry was recommended
primarily by which of the following ?

ey
2
3)
4

Paper-I111

The Contract Labour (Regulations and Abolition) Act, 1970.
The Industrial Disputes Act, 1947.

The Royal Commission on Labour, 1931.

Shri. V.V. Giri Committee.
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55. Consider the following statements and indicate the correct answer :

Statement — I : Companies that adopt value pricing win loyal customers by charging

Statement — II : Value pricing is a matter of re-engineering the company’s operations to

reasonable price for a high-quality offering.

become a low-cost producer without sacrificing quality.

Codes :

(1)  Only statement I is correct.

(2)  Only statement II is correct.

(3) Both statements I and II are correct.
(4) Both statements I and II are wrong.

56. Which one of the following is true for value marketing ?

(1)
2
3)
“4)

The strategy of offering consumers lesser quality at a low price.
The strategy of offering consumers reasonable quality at a fair price.
The strategy of offering consumers high quality at a low price.

The strategy of offering consumers luxury quality at a high price.

57. Match the items of List — I with the items of List — II and select the correct code :

List - I List — IT

(a) Visualization (1) Give people an incomplete or ambiguous stimulus
and ask them to complete or explain it.

(b) Word association (ii) It requires people to create a collage from magazine

test photos or drawings to depict their perceptions.

(c) Item substitution  (iii)) To identify the range of possible brand associations,
ask people what words come to mind when they
hear the brand’s name.

Codes :
@ M (©
(H Gy G @)
2 @ (@G (i)
(3) @) @G) (1)
@4 Gy (@ (i)
58. ___ aims to stimulate repeat purchase of products and services.
(1) Reinforcement advertising (2) Informative advertising
(3) Persuasive advertising (4) Reminder advertising
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59.

60.

61.

Match the items of List — I with the items of List — II.

List - I List — IT
(a) Market testing (1)  Will this product meet our profit goal ?
(b) Business analysis (i) Have we got a technically and

commercially sound product ?
(c) Product development (iii) Have product sales met expectations ?

(d) Commercialization (iv) Are product sales meeting expectations ?
Codes :
(@ () () (@
(H G @H >Gv) 3G
2 @O @Gy (G (@GQv)
(3 @) @ () (@{v)
@ @ G @Gv) (D)

Which of the following factors are considered when setting the advertising budget ?

(a) Stage of the product life cycle
(b) Market share and consumer base
(c) Competition and clutter

(d) Advertising frequency

(e) Product substitutability

Code :
() (a), (b), (¢), (d) and (e) (2) (a),(b)and (¢)
(3) (a), (b), (c) and (d) 4) (b), (¢), (d) and (e)

Match the items of List — I with the items of List — II and select the correct code :
List - I List — IT
(a) Penetrated market (1) The part of the qualified available market the
company decides to pursue.

(b) Target market (i) The set of consumers with a sufficient level of
interest in a market offer.

(c) Available market  (ii1)) The set of consumers who are buying the
company’s product.

(d) Potential market (iv) The set of consumers who have interest,
income, and access to a particular offer.
Codes :
@ (M (@© @
() Gy @ @av) (i)
2 @ @G (@) @Gv)
(3) @Gv) @y (@) (1)
4) () @) (@Gv) (@)
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62.

63.

64.

65.

66.

Match the items of List — I with the items of List —II.
List - 1 List — II
(a) Financial leverage (1)  the extent to which fixed costs are used.
(b) Operating leverage  (ii)) Modigliani and Miller.
(c) Trade-off theory of (iii) the riskiness inherent in the firm’s
capital structure operations if it uses no debt.
(d) Business risk (iv) the extent of use of fixed income
securities in firm’s capital structure.
Codes :
@ M (@© @
(H @y (@v) @@ ()
(2) @Gv) (@) (@) (@)
(3) (@Gv) @) ) (@)
4) (@Gv) () (@) (i)

Which one is a true statement ?

(1) A merger in which the firms involved will be operated as a single unit and from
which no operating economies are expected is financial merger.

(2) A merger in which operations of the firms involved are integrated in hope of
achieving synergistic benefits is called operating merger.

(3) Goodwill refers to the excess paid for a firm above the appraised value of the
physical assets purchased.

(4) A joint venture is a corporate alliance in which two or more companies combine all
their resources to achieve a specific objective.

Which one of the following statements is true ?

(1) Market risk premium is the additional return over the risk-free rate needed to
compensate investors for assuming an average amount of risk.

(2) A firm cannot influence its market risk, hence its beta, through changes in the
composition of its assets and also through its use of debt.

(3) Market risk premium is the additional return over the risk-free rate needed to
compensate investors for assuming greater than average amount of risk.

(4) An asset’s risk consists of market risk which can be eliminated by diversification.

A company has a total investment of ¥ 5,00,000 in assets, and ¥ 50,000 outstanding shares
at ¥ 10 per share (par value). It earns a rate of 15% on its investment, and has a policy of
retaining 50% of the earnings. If the appropriate discount rate of the firm is 10%,
determine the price of its share using Gordon’s model.

(1) 15 (2) %30

3) 10 4) %50

A project will cost ¥ 40,000. Its stream of earnings before depreciation and taxes during
first year through five years is expected to be ¥ 10,000, ¥ 12,000, % 14,000, X 17,000 and
T 19,000. Assume a 50% tax rate and depreciation on straight line method. The average
rate of return of the project is :

(1) 36% (2) 40%

(3) 55.56% 4 16%
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67.

68.

69.

70.

71.

Match the items of List — I with List — II.
List - I List - II

(a) Credit limit (i) Criteria which a firm follows in selecting
customers for the purpose of credit extension.

(b) Cash discount (1))  Specifies duration of credit and terms of payment
by customers.

(c) Credit standards (iii) Maximum amount of credit which the firm will
extend at a point of time.

(d) Credit terms (iv) Given for receiving payments before than the

normal credit period.
Codes :
@ (b © @
(H @) @ @Gv) ()
(2) @ Gv) @G @)
(3) @) Gv) @O ()
@ @G Gv) (@O (i)

Which one of the following statements is false ?

(1) Derivatives are securities whose values are determined by the market price of some
other assets.

(2) Derivatives include options, whose values depend on the price of some underlying asset.

(3) A natural hedge is a transaction between two counter parties where both parties’
risks are reduced.

(4) The Black-Scholes Option Pricing Model (OPM) can be used to estimate the value
of a put option.

The buying and selling of commodity, in case of foreign currency, that has both element
of risks and chance of great profit is called

(1) Arbitrage (2) Gambling

(3) Speculation (4) Negotiation

The segment of foreign exchange market which comprises of banks and financial
institutions is called as

(1) FERA (2) Exchange Traded Market

(3) OTC market (4)  Spot market

Consider the following statements :

Statement — I : GATT was formed to decide quotas and increase tariffs.

Statement — II : RTAs replaced GATT in 1995.

Statement — III : Any sort of discrimination was prohibited as fundamental principle in
GATT.

Code :

(I) Statement I and III are correct and II is incorrect.

(2)  Only statement III is correct.

(3)  Only statement I is correct.

(4) All above statements are correct.
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72.

73.

74.

75.

Under which of the following system of perfect capital, mobility increase in exports or
expansion in government expenditure or a tax cut, does not affect equilibrium level of
income ?

(1) Fixed exchange rate system (2) Flexible exchange rate system

(3) Balance of payment equilibrium (4) Changes in money supply

Assertion (A) : Companies face different competitive situations depending on the
products, strategies and countries where they operate.

Reason (R) : A company’s competitive strategy influences how and where it can operate.

Codes :

(I) (A) is correct and (R) is incorrect.

(2) (A) is incorrect and (R) is correct.

(3) Both are correct and (R) is the right explanation of (A).

(4) Both are correct, but (R) is not right explanation of (A).

Match List — I with List — II relating to legal system in the world.
List - I List — IT
(a) Common law system (1) Codified legal system
(b) Civil law system (1)) Based on wisdom of daily experience
(c) Theocratic law system  (iii)) Based on traditional and case judgement
(d) Customary law system (iv) Based on religious precepts
Codes :
(@ () () (@
(H G @H >Gv) 3G
2 @ @G @G (@Gv)
(3) Gv) (i) @ (D)
@ @ @Gv) (@) (i)

Consider the following statements :

Statement — I : Stakeholder cannot influence how and whether companies operate
through FDI.

Statement — II : The effort to create favourable political relations has led many countries
to replace obstacals to FDI with incentives for FDI.

Statement — III : The effect of a multinational enterprise activities may be simultaneously
positive for one national objectives and negative for another.

Codes :

(1)  Only statements I & III are correct.
(2)  Only statement I is correct.

(3)  Only statement III is correct.

(4) All statements are correct.
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